SM7E48148 AMBR—ER

WER IREZ TIH# LT UNGE JIE - F1EIA L) EiLxE FEHEME) BREHEmAE (Bitk: A FEME (BiE:A) | SEH RS KA

W7 vIRZE 81,500,000
BTRTL ZEXE 85,000,000

1 |RI-1 BEERHKER FEEREEEHTIE HH8EIA19H BAFNET kS E S 85,600,000 |W7voR=8 81,500,000 83,367,000 83,367,000 76,697,000
ZEYEWR ZEXE 82,000,000
SR ZEEEmR R
th R g2 R 77,330,000] %ki%
(Bt F 78,616,000

2 BT -1 BIIRSEEAHTKESE EHEHIE 461K SFITHF10A318 Bzt [R5 77,360,000 |t EER 77,360,000 85,453,000 85,453,000 77,360,000
R F+ 48 77,351,000] %4&
A 28 77,743,000
(= FEHFH 3,050,000
ROFXRBH WRERMR 3,150,000

3 |ofE—1 CELERBRRERESEE HEYCELERF— LAV avt—TUERREA | SFf746A308 £ = E 4 3,050,000 3,546,000 3,546,000 L
20— ZEEEM 3,200,000
NP BMERT EEER R
SEVISEHBEW mRXE R
ZERHEYEN BXE R

4 IR 25 THEA SF8FIA13H R E R UDRSVI R FBHARET—t 52— R TER e e FER e
ZESNTINIVINRH RBASEIEXIE R
I(ﬁJI?wf-?}'—F hERE T R
|(mi5’§7‘-’7/ MRS 52— 1,230,000
I(mﬁ%fﬁﬂiﬁ}fﬁﬁﬁ ZEEEM R

5 |&FE—-1 RAMETRERRAERBE RS TH8EIA19H BAFNHT IXTIRRGH =FEXER 1,980,000 |WRBTY/ BRI FTEE2— 1,230,000 1,511,000 1,511,000 7L
|HEERE L 42— ZEEEM 1,600,000
HiEFELY)—F— ZEREVY—F 1,250,000
I(mii’év‘-’y/ MRS 58— 1,000,000
I(mﬁ%t%ﬂﬁﬁ}f%'ﬁﬁﬁ ZEEEM R

6 |&E-3 BB ERMEAE LW EB R HH8F3I[ 198 BAFNAET IXTRRGH =ZEEER 680,000 960,000 960,000 L
IXTRRGHE =FEEMR 680,000
|W#BRBRE L Y — ZEEEM 890,000
RIEREW —EEXM 2,200,000
|RIRBER AR —EEEM R

1 |EE-2 BAMETY (A X U ERERBER HF8EIA19H BAFNRT |FBRRE L Y — ZBEEMR 1,750,000 1,789,000 1,789,000 L
IXTRRGH =FEEMR 1,970,000
I(ﬁ:)ﬁ%%#ﬁﬁtyé— ZEEEMR 1,750,000




RIAE% 2,800,000 1
8 |CI—1 ZELEEREEEE HEYELERBEEERARBELE TH7E6RA 108 s R TR 3,000,000 RIEHEH 2,800,000 2,893,000 2,893,000 2,661,000
R hvEILER 2,950,000




